L6398EO SYNERGY S/PANEL 700 BRT/SIL CLEAR EU
L6399EO SYNERGY S/PANEL 750 BRT/SIL CLEAR EU
L6400EO SYNERGY S/PANEL 800 BRT/SIL CLEAR EU
L6401EO SYNERGY S/PANEL 900 BRT/SIL CLEAR EU
L6402EO SYNERGY S/PANEL 1000 BRT/SIL CLEAR EU

/

puerta incluida — _
AiariBetar pe TV TOpTA T
dodavano s dvafmi
porta incluida

FPanel lateral
Mhdivr) oraBepr] TAsupd
Bocni zasténa

Painel lateral

Dvere
Porta

N/

<mmmamen]y X 3
Ne G x 35
cabeza plana
Apl x 35
harnids Kepahic
roub - kuZelova
hlava ¢ Bx35
ng 6x35
cabeca angular

ﬂ_/;i“

SYNERGY EU SIDE PANEL
Instruction Number: 4888

Wide Side s

= Qutside

ﬁ
adjustme&r: ‘ _.|

P

. Click corner profile
=, _onto side panel

H

Narrow Side
= Inside

adjustment

N

Side panel

.._:::_\‘:\



shori
Stamp

shori
Stamp

shori
Line

shori
Stamp

shori
Line

shori
Stamp

shori
Text Box
SYNERGY EU SIDE PANEL Instruction Number: 4888


Side Panel

T

Panel
Componenis

Panel <]} '@ g %é‘\ S 2 |
Pack No.8 x 8 S No.8 x 18 "’Hr,.:-j* . ;’ﬂ T
L Pan Head Csk. - e
i P8 P9
% 1| cmmmmme]y X 3

Ref. Description Spares Part No. ey N® 6 x 35
S1 Panels (new pack required) S mﬂbf‘éaf'gga
S2  Corner Profile LVB04EO T | mhamac kepakiic
S3  Spacer Profile LV946EO Sroub - kuzelova
P1  Screw Retainer Moulding LV879L] maﬂ\f Eﬂ?ﬁ
P2  No.8x8mm Pan Hd Screw LV86667 cabeca angular
P3  Screw Cap Moulding LV880AA
P4  No0.8x18mm CSK Screw LV82267
P5 Corner Profile LH Top Cap Midg LV877AA
P6 Corner Profile RH Top Cap Mldg LV878AA
P7  Adjuster Top Cap Mldg LV854AA
P8 Spacer Top Cap Midg LV947AA
P9  No.6x35mm Pan Hd Screw LV94467
X  Glazing Seal 2M length LV81367

(vertical seal holds panels into aluminium profiles)

X

Side Panel Moulding Pack
contains:(x3 P1, x3 P2, x3 P3, x1 P4,
x1 P5, x1 P6, x1 P7)

LV827AA


shori
Stamp

shori
Text Box
Ref.    Description                              Spares Part No.
 S1     Panels                           (new pack required)
 S2     Corner Profile                                 LV804EO  
 S3     Spacer Profile                                 LV946EO
 P1     Screw Retainer Moulding               LV879LJ
 P2     No.8x8mm Pan Hd Screw              LV86667
 P3     Screw Cap Moulding                      LV880AA
 P4     No.8x18mm CSK Screw                 LV82267 
 P5     Corner Profile LH Top Cap Mldg    LV877AA
 P6     Corner Profile RH Top Cap Mldg    LV878AA
 P7     Adjuster Top Cap Mldg                   LV854AA
 P8     Spacer Top Cap Mldg                     LV947AA
 P9     No.6x35mm Pan Hd Screw            LV94467
  x      Glazing Seal 2M length                   LV81367           
  (vertical seal holds panels into aluminium profiles)
  x      Side Panel Moulding Pack              LV827AA
  contains:(x3 P1, x3 P2, x3 P3, x1 P4,
                  x1 P5, x1 P6, x1 P7)
 


shori
Line

shori
Line

shori
Line

shori
Line

shori
Line

shori
Stamp

shori
Stamp




